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Mechanism of chemical rate :SbeSll Jelal) A8lSn -2
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A 2>B

Rate of chemical reactions (silauSdl e laill de pw

Reaction Rates:

Reaction Rate: The change m the concentration of a reactant or a
product with time (M/s).

Reactant — Products
A —> B

change m number of moles of B

Average rate = ——
change in time

~ A(moles of B) _A[B]
- At At
A[A]

Since reactants go away with time: ~ Rate = AL
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Hag + l2@g > 2Hl(g)
CH3COOC:Hs50y+ H20() = CH3COOH()y + C2HsOH)
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Zne) + 2HCI eq) = ZNnClys) + H2 (g)
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Ro=+A[ ]/At = (p2-p1) / to-t1

L AUl 3 gal) AN Al Jeldil) de i iR,
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Reaction Rate and Stoichiometry

In general for the reaction:

aA + bB —= cC + dD

Rate = — L AA__1A[B]_1A[C]_14A[D]
a At b At ¢ At d At

0.1 M 525 s b A 585 o caade 13 2A + B S 3C i Jeliill dalal) de jul) Canal /7 1
A B, C d¥auic pull Caual 0.01 M o35S i 0S15  dadall s

/] < sl
Ra= - [C2-C1]/ to-t;= - [0.01-0.1] / 15-5= 0.009 mole/L.min*

Jelill duleR = Ra / v = 0.009/ 2 =0.0045 mole/L.min™
C, Bac iy
Ralv = Rglv
0.009/2 = Rg/1

Rg = 0.0045 mole / L. min't
RA/v = Rc/v
0.009/2=Rc/3
Rc =0.0135 mole / L. min*
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2* 107 mole/L. sec? de yudl o) Caale 131 (383 10 A L sa¥) (o il laie cosal /20
3H; + N2 2 2NH3
(RN/v=RNH3;/v) = 2*10% 1= RNHz/2
R NH3 = 4* 10 ®* mole / L. sec™? 1)

sl 130 Al sale Wi s o) La

R NH; = + [Cz-Cl] [ t-t1 sec el Jsad
4*102 = C,-0/ 600-0 10*60= 600 sec
CyNH3 = -—---- mole / L. sec?

Law of Mass action : ALisl) Jab ¢y 5ild

i Y e e e gy Aleliiad) ol sl 3805 Gy eala pn Loyl Laniis Jelis (gl e jun i
A5 gall Aalaall 8 Y gall 2ac

A+B+C>P
R a [A]" [B]". [C]" gty i o 0@ P Y

R=K[A]* [B]®.[C]"

el o i 3al o (8 iy Jall ploail) &y gaoal @l Jelill dad ;540 2255 Y - 1 Note
gl 13 e Jeld aa g5 Le JWl8 231G

4 jiall 4l e Jelall B R=K oIS 13122
leall o jlatll IR (e Leal) Jsal i) oy Jeliil) il e of peiiiass 138 (pa g
(at+ B+y)dcu3ﬂ?uuj\@fn
Hz + Bro 2 2HBr //J%a
Rate = K [H;] [Br]*?
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1172 5 3/2 Jel@llds 1) 1/2 = Br 4 .

Reaction Molecularity : Jelaill 4 ja

Loydas 455 sall Alalaall (e eiiinss () gal) Jeliil) 3 cul A gl i ) o) iy 5all Y gall 23 o
2NO+ Br, >2NOBr
3 = Jelall 13a 45

¢ Jeliil) i Ja 5 Je il A5y G Gl L /s

5 ) jia L (055 0 (S Y5 Aleliiall 3 gall Y ge 230 lan (pa L ylai g Jeliill Ay ja // <l 52l
S gl Aasia gl e 5S5 O Sy 5 Jad Ay ailly Llee it Jelaill 45 pe Ll | S

Pseudo order : 4.3\l 4yl

Tpan 5 1 23l Jolitl 13 5 Aa)) 415y e 4550 230 & Jnl ook oo Jeliil sl L) A5l
s

CH3COOC;Hs +H,0+ H >CH3COOH + C;HsOH  // Jle

e Jelal) o) o) 1 = Jelall 45 o (malall 3 a5 aay Jeldl) 138 Saay Y 3 o Jelddll 138 4 5
LSl (Y1 A5 el ey Jelaill 12a 5 Jasd A e

de juall Alalitl) ddalaal)

n A> P

Rate = A[ ]/ At - (1)

O miay | faa Jiia sty de pull d e Y (agad M de jully S juas o A

Rate = -d [A] /d t =K p[A]"------------- (2)
n A-> P
T=0 a 0
T=t1 (a-x) X

sl 550
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dx/dt = Kn (a-X)" -----——-- (3) Al o o gun 13
dx/dt =Ko A jheal) 455 5all Loaliall de ) ) 58 sy
dx/dt = K; (a-x)! Y i pall Ll e ) () il

dx/dt = K; (a-x)? PR EERIP




